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Vertical angles: Mﬁ%mm#s&ma_d@_si
+Hoe intersecting Qines,
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Complementary angles:
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Supplementary angles: MMMS_{EQL
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Perpendicular: i a QC“—

;tb_-&tmggi_a‘nﬂ_ﬁhs-

* Perpendicular lines intersect to form four right angles.

» Perpendicular lines intersect to form congruent adjacent angles.

¢ Segments and rays can be perpendicular to lines or other line segments

and rays.
» The right angle symbol in the figure indicates that the lines are
perpendicular.
. . . — —
Symbol _L is read /s perpendicular to. Example AD 1 CB

“Jzt'ruz AD s PerPendt'canM‘ fo /Q‘“ﬂ e’
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ex. 1. Findthe measures of two supplementary angles if the difference in the measures of the two
anglesis 18.

.= yeasvure oQMlSTangQQ_
120 -L_= measore of the 2nd cijQ,
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ex. 2. Findthe measures of two complementary angles if the measure ofthe larger angle is 12 more
than twice the measure of the smaller angle.

M = smaQor ongQg
2m+12 = Rorger o.ngQ.Q,

] m= 20
(M) + e+ )= 90 2m+12= 2(26)+12

M +2m+12= 90 2+ \Z

IM+12=90
y "\ -\2 4‘wo qy\
%m = -7% (&sure ch@
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ex. 3. Findxandy sothat PR and SQ are perpendicular.

PR LSQ
(23)+ (5x+)=0 4y-2=20
2%+ 5x+=0 e = o

e | HR L
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ex 4. Suppose msD = 3x -12. Findx sothat <D is a nght angle.

Ix-12=90

+|2 N2

IR = |0
=2 =2

September 25, 2019
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In the figure at the right, it appears that G L '}?' However,
you cannot assume this is true unless other information,
such as mZFHJ = 90, is given.

In geometry, figures are sketches used to depict a situation.
They are not drawn to reflect total accuracy. There are certain
relationships that you can assume to be true, but others you
cannot. Study the figure and the lists below.

September 25, 2019
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KeyConcept Interpreting Diagrams

CAN be Assumed CANNOT be Assumed

All points shown are coplanar. Perpendicular lines: AM L HL
G, H, and J are collinear.

Congruent angles: 2JHK = ZGHM
—r s —
HM, HL, HK, and ‘GJ intersect at H.

ZJHK = ZKHL
His between G and J. CZKHL = ZLHM
Lis in the interior of ZMHK. Congruent segments: GH = HJ
ZGHM and ZMHL are adjacent HJ = HK
angles. = Al
ZGHL and £ LHJ are a linear pair. AL = HG

ZJHK and £KHG are supplementary.

The list of statements that can be assumed is not a complete list.
There are more special pairs of angles than those listed.
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ex. b,

Determine whether each statement can be
assumed from the figure. Explain.

a. ZKHJ and ZGHM are complementary.
NO, e den4 know Hair measures
b. ZGHK and ZJHK are a linear pair. ¢ ™
\(QS, definitron of »QH\SLO.\' pcu‘r.
— —
€. HL is perpendicular to HM.

Nes, becomse mLMHL (s QO
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